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Python3 3245 7£ Python # , ZIRIIF 2 —FIEFEBAMINEGE , ERFRM—NNRPIEE—EHTTE , BR— NN FIR, IRIREERHES [ HES : RKIBEEREES. ERESIFMSK, BRIFFHNE—NR my list =1[0,1,2,3,4,5,6, 7,8, 9], HMNEELRNEHN—ISTE , AJAMEHALIFEE, my list=1[0,1,2,3,4,5,6,7,8, 9] # £EZER3| 2 2 5 MWxE (ABEXE5|5)
sub_list = my list[2:5] print(sub_list) {CIB#EHT : my list[2:5] : XR—MIFIRIE , 2 BEIAERS| , 5 BLERES|, IFRESRINIES| 2 FBEIERS| 5 ZRIMNTE (BIAEIEERS| 5 WTE) . sub list : IRUARIEEFIMNIIIR, WHER : (2, 3, 4] Python3 3Lf >>>1i = ["a", "b", "mpilgrim", "z", "example"] >>> li ['a’, 'b', 'mpilgrim’', 'z', 'example'] >>> 1i[1] 'b'
>>>li['a', 'b', 'mpilgrim', 'z', 'example'] >>> li[-1] 'example' >>> li[-3] 'mpilgrim' >>> li ['a', 'b’, 'mpilgrim’, 'z', 'example'] >>> 1i[1:3] ['D', 'mpilgrim'] >>> li[1:-1] ['b', 'mpilgrim’, 'z'] >>> 1i[0:3] ['a', 'b', 'mpilgrim'] Python3 3£ EX—MFIR , FIECEEE, 5190 . EsEa : list = [10, 11, 12, 13, 14, 15] #%&/5 : [15, 14, 13, 12, 11, 10] def Reverse(lst):
return [ele for ele in reversed(lst)] Ist =[10, 11, 12, 13, 14, 15] print(Reverse(Ist)) UA ESEfHlEHLEER 7« [15, 14, 13, 12, 11, 10] def Reverse(lst):  Ist.reverse() return Ist Ist =[10, 11, 12, 13, 14, 15] print(Reverse(lst)) A EXFIHLERP  [15, 14, 13, 12, 11, 10] def Reverse(Ist): new lst = Ist[::-1]  return new lIst Ist = [10, 11, 12, 13,
14, 15] print(Reverse(Ist)) LA ESCIHER R« [15, 14, 13, 12, 11, 10] Python3 3£ff Python3 325l 7£ Python # , FA(1F] LB BRI IERITE—NMIRPFABETENTINE, &L, BIEESRIIRPIAMBETHEEN , AERUIIRNWKE, def calculate_average(numbers): return sum(numbers) / len(numbers) # R{I7%& numbers = [10, 20, 30, 40, 50] average =
calculate_average(numbers) print("ZIRAIFEMER:", average) {VEBHEHT : calculate_average XK IEZ—IR numbers {fEAS#., sum(numbers) i+EIFIRFABETENEF, len(numbers) HEINRMKE , IFIRPTENHRE., FEFMRUINRKEREITHE , FiRMEZ(E, RFIFIZR numbers B18ANTE. iAA calculate average RITEFEME , HITENER., Wb

R 7ROEHER: 30.0 Python3 3L Ollama —MNFHRMAM KIBESEENEITIESS , ThHESHTEE EEFEREMIZTAENESHER (LLM) mMi&it, Ollama ZIHFSMIRMERS , 81% macOS, Windows, Linux M&i#id Docker 88517, Ollama REMNERENIL , SIUBERBEEFEK , FEESERAITEN LT KEMERR oe]gE, Ollama EAFHA#E. HRARURT
MR EREERNWAF , ERUSIAFPERIMETRIEDZSINGITAEIESER |, EMRHRENESILE, £/ Ollama , FH{1FJUAEEARMIEIT Llama 3.3, DeepSeek-R1, Phi-4, Mistral, Gemma 2 FIEMER, ZIARIZFFRER TH AHIBESE Python EMIFLEES] , NRATH# Python FJUAZE Python 3.x ERi#i2, IB#Z Docker FEMBRMXF , sIEMEM
Docker Hub HEUEBHIZ1TAEE , docker B XNAESM . Docker #Hi2, FEBESSITILE (WRIFHGLRRF ) WEXIRE , FINXXEGF B REIEE, MR, Boh , WRWELETHAEF, CIZEIIIED 1T AR ollama create a3 < I Modelfile €I#4#&H! : ollama create model -of ./Modelfile 8% %% Ollama E75itisit : Github FiFEHdE : Ollama EA X : F3IZPythonH
BREANBIEENE, FIPNEINTERPE—MNFE - EWME |, &R, F—NESI20, FIARSIZL , MKIEEHE, PythonB6ANFIIMAERE , BRENMNEIIRITH, FIETHITIRESIERS] , thE , 10, 5k, ©E/MA, ItY , PythonEKARABRERIINKEURRERANRNNTENSGE, JIREHEAMPythonHIBRE |, ErJUMEA—NARBREANESHRELRT. 7
ROBIBEMAEZEZEEGHEENEE QIR , REIEESHRNARNEIREIER S IESEERE, TR listl = ['physics', 'chemistry', 1997, 2000] list2 = [1, 2, 3, 4, 5 1 1ist3 = ["a", "b", "c", "d"] EFFHFHEMERS|— , JIRZES|IMNOFIE, FIRTUHITEE. HEE. HOIRPIVE FATHRERESIKIARGIRPIE , AFEEROTUERSESHEABINFERN , TR @ listl
= ['physics’, 'chemistry', 1997, 2000] list2 = [1, 2, 3, 4, 5, 6, 7 ] print "list1[0]: ", list1[0] print "list2[1:5]: ", list2[1:5] LA 3L HLER  list1[0]: physics list2[1:5]: [2, 3, 4, 5] EH IR {Re] AN FIRAEIRDUAITIEINEEH , R UAERappend() /AR RMTIRIN , SNFE/R : list = [] list.append('Google') list.append('Runoob') print list j£5& : H{1SEETRNET
Fitappend() /5 iERIER M ELFGEER © ['Google', 'Runoob'] MFRTIRITE FILAER del BRAIRMFRTIRMITE , SAFSEH) ¢ listl = ['physics', 'chemistry’, 1997, 2000] print list1 del list1[2] print "After deleting value at index 2 : " print list1 LA ESLHIMHLESR : ['physics', 'chemistry', 1997, 2000] After deleting value at index 2 : ['physics', 'chemistry', 2000] ;&
B BiNaEETRNEDHEremove() 75509 PythonZIREIKIZIERT IR + F1 * MIRERFSEFHEMEL, + SHATHEIR , * SHETEEYR. TR Python RAXLER iR len([1, 2, 31)3KE [1, 2, 31 + [4, 5, 61[1, 2, 3, 4, 5, 6]¢4HE ['Hi!'] * 4['Hi!', 'Hi!', 'Hi!', 'Hi!']&EE 3 in [1, 2, 3]TruecZREFET YIRS for x in [1, 2, 3]: print x,1 2 3% PythonZlZREEY
Python MFIREESEHIUIT : >>>L = ['Google', 'Runoob’, 'Taobao'] >>> L[2] 'Taobao' >>> L[-2] 'Runoob' >>> L[1:] ['Runoob’, 'Taobao'] >>> #id : Python RiAXLER iR L[2]'Taobao'iZEFIFRAE =T L[-2]'Runoob'iZEGIRHAE#HE — Mt LI1:1['Runoob’, 'Taobao'II\E Z N TEABREEZIR Pythond|REN &% PythonB & U T ES: PythonBEU T AiA:
C++ MEFERETEEMNINE , HF B2—MEREENTRE  BTEMTERES  IHNEiENREE. 2 C++ inEERE (STL) FR—1NFIIERE | EATFESSNERMEREBATRIRTR, SEHEIEE () FAE , FEEECIBMBEXR) , FEITUERAMVERMNSBRTE  MAZTEENPEAE. 18F UTE B8 —LEKIRE . B8LXH : #include FHRFIR : std::list
mylist; , B T B2FMEINRPITRIELR, HAITE  mylist.push_back(value); filfkITE : mylist.pop back(); 3 mylist.erase(iterator); iAE)5T 2 : mylist.front(); 1 mylist.back(); ®[AFIF : EAHENES for (auto it = mylist.begin(); it = mylist.end(); ++it) ¥ WEHRERX : BETRN@ENRE , AIUEFGMERGEATE. SISKN  SHERE , BRNTUNSEE , REEM
SEPRBETER/NINTE, BEBEAFRE ; sTUESRMMEAUBSREFEAD IR TS , MAEESGOENERIAETE., ERSYIEK WEBEMYBREEREMEIEE . #include #include int main() { std::list Ist1; // Z9list std::list 1st2(5); // BIE5MNERIAVITELTTERIList std::list 1st3(5, 10); // BE5ATE , BATER10 std::list Istd = {1, 2, 3, 4}; // EBYVIIALFIZE return 0; }
X TER—MER WEER , 8FRYR. RlTE. BRIIRMGHESR, #include #include int main() { // BIB—MNEBEERMWIIR  std:list numbers; // BFIRPHRIMITE  numbers.push back(10); numbers.push back(20); numbers.push back(30); // VAEIFITENFIRME—ITE  std::cout



